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ENGG MATH - 11
(Theory : 3)
Full Marks : 80 Time : 3 hours
Answer any five questions including Q. Nos. 1 & 2
Figures in the right-hand margin indicate marks

1. Answer all questions : 2x10

(a) Evaluate :

11
s |
Eg} x—2
(b) If u=+*and v = sinf?, then find %
_ - of
(c) If f(x,y)=e", then find y-g.
(d) Find derivative of Jx wrt. x2.
(e) Examine the existence of
lim [x]
x—)i
g d’y
N If y= e’ +c e, then find P
(g) Evaluate
J O3 | e

(h) The two forces act on a particle at a point. Find their resultant if they are
(41 + j—3k) and (3i + j— k).

(i) Solve
Y _x
dx y’
(/) Find the derivative of sin™'(3x).
2. Answer any six questions : 5x6
x_—|x| x#0
(a) If f(x)=<2 x ~ at x=0.
2 x=0

Show that lim f(x) does not exist.
x—0
(Turn Over)



(2)

(b) Evaluate

. X—X 2x
lim (%j |
x>0 sin” 2x

(¢) If y=tan'x, prove that
(1+x?) Y, +2xy, =0.

(d) If f(x,y)z%, find £.(1,2) and £(1,2).

(e) Solve the differential equation,
x(1+y?) de+y(1+x3) dy =0.
(f) Evaluate

(e

(g) Find the area bounded by the curve xy = ¢?, the x-axis and x =2, x = 3.

(h) Evaluate
/2

J dx
1+cotx -
0

3. Find the value of ‘@’ if
loge(2x -3)

lim 10
x—2 a(x - 2)
4. Differentiate, tan™! (sec x +tan x). 10
5. Evaluate
Jlog(1+x2) dx. 10
6. If y=(sin"!x)?, show that
(l—xz)yz—xyl—2=0. 10
7. Find sine of the angle between the vectors & and b where
G=2i—j+3k and b=i+3]+2k. 10
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